ET%%E(lﬁH)

}343 FEINEG] 1T o = Y %

4

8 | H|1L:00|EHIZEES A hEINE=

9 |k |15:30 )| HEXESEMRS RIIEHEE

10 | K

11| 4 [10:00 M@fﬁ%?%@ﬁﬂﬂiLﬁ IR fmE | TTRE
13:30 | &) & s A S B T S LR

12 |4

13 [ E|16:30|8)11F A A X7 Z7CNs5JEEG &AM (R %

14 | B 9:30 | &) FELRTFHERS b &tE

15 | g | 9500 [k R34
15:20 2 THEE SRS i U b1l

16 |k |[16:00 8 I{L#X{ELHET SRS NElEwAvAUs

17 | sk [ 10830 | i R B S S ) o RS T &
12:30 (&)l e —2 Y —7 7 7H& THiE#E] B LT

18 | K|13:30|8)IITHEANY T T HESKRES i bR

19 | 4| 9:30 |JAOFE DV ke i S b= 8

20 | k

21 | B|9:30 [BIITHA > bAEAHES THRE 7 4 R

Bk Bt P o

22| H

23 |k

o4 | 4 |10:00|KHE=E (IHAREEMLR) BYst KR (IRfRFERER)
14:00 | 3R =] JRIEGE A T TR R 25K s TP

95 | 4 |10:30 H7RIA N B9 % e AR E S W i i 2 HE= o
15:00 [ B =3 JRGRR T EH A SRS - RS )1 T3

26 |4

27 | k




HROFETE (15 H)

EIERCAEIES = Y %
4 A
28 | H
29
BFfno B H
30|,
EERDKAE k
5H
1 7K
Bz B
2
EERDKAE 7k
3
FmERRAaE (ﬁ
4
HEYVDH j:
5
ZELDH El
6
IREMA B A
7 | k] 9:00 HESZ% ARIADHEE
8 | A |13:30|FmETHES I TS b & E
9 | K
10 | 4| 7:30 |BROEEREBLSEDHIEA A% AT I 1 B
11| &
12| H
13| A|10:00|H%S s AlE Bl
14|k
15 |7k [10:00 [E)IITHTH R i Z I E:
11:00 | &)1 EFn %Bmiﬁ& ‘é% ARIEESR
16 | K|10:00|HHETHESE e R ST
17 | &
18 | &
19| H
20 | A|9:00 [fESH ARBAZ =
11:00 |/EBIGEE = A ISR




